UL A s
d-ﬂﬁr‘.-‘-ﬂ PR

o2 1o (o IBE

BRI
AT RO SR
b A S

3 8] N 4 S X P TPy
e R T (R o ST a1 LIS
Sl T,

o
b \Em._:;’ﬂ[

i
e | 45
e =

Al

Bi¥
e

gil Eh — e
e
— "‘p

=

e

e

s (o 30 e
WAL HAEINY 67N .

LI SNt

5
=

"1
’ 2
lg‘#—‘ -

P

. L Ll PR s
Sl ey e § R T
wum_}‘&_}; -

RN

S

Rlaaxes

2
= Y

AR T (IR T8 BN
e A}

. -\ £ 4
S e | (T
jaslRT A
e Py eeEnE
!Bm_

T
,,,,,,,,, Gt SN
| FENN Sy Swm—

VRO A A RT TSIR R ECIA TR AT
TR, A AR SRR Rt SN
s AU J ATy g :
iy AR :

%’l

AUV



A
AN —
AN~ 7/
AN =7/
AN NS /
A A
A\,
J NNV
AT T RwRwnY [
ANT T T TN NY
ATT TN NN WY
P AN
ANT TR TN NY
ATV T\ R NY
AT N WA Y
AT TN W N WY
AN T T T NN NV

& AN MM AN NN NY
o o

849 'sod

2D

TR WO W W W W X/
AN
TR N N N NN WA K
TN N N NN W\ K
TN NN W 7\ N
TN\ W) \ N

TN W \ N7
™ W J \ N

1ie1d
IJN-Dbeuyiny
JN-UIpUNY|

¢/

/7 A\ N
= \ qLee
o © T
€ N s 0 CC
3| -
Al
o ® [gr\J
(@) S| Z
(o ®) o > Ew
M
5 Yz n s| 2ITl
3 - E=>,
2 Vo) Z =
c a
= o + 2| 80D
— 2 =z
= e o c| =T
® o o| 1
ﬁ\ A




STALLEINRICHTUNGEN

SULZBERGER

600

570

L4 79348 Freiamt, Langestr. 26, Tel.: 07645/9108-0 Fax.:1544
— - - .___j ._\
° 1] — — o
| | I
w_\ q :_,_% 2 Pos. 9,10

| = C =2

I

I

. I 1 1 o
Il
n
= - = Tp—— #I ._k
n + : | 580 ’
) 1150 |
5 oS
LN
1070 0
Pos. Stck. Bezeichnung MaRe in mm

1 2 |Vorder- und Hinterteil 1150x600
2 2 |[Seitentell 580x550
3 1 |Einlegeboden 1070x570
4 1 |Gitterdeckel 1050x550
S 2 |Fuhrungsbugel 590
6 8 |SchloRschraube M10x50
7 | 8 |Hutmutter M10 Bodenheuraufe
8 8 |Unterlegscheibe M10
9 4 |Senkkopfschraube M5x45 Kunden-Nr
10 | 4 |Sicherungsmutter M5 Auftrag-Nr
11 2 |Wirbelschnappschakel Blatt 172




